[ Efficiency vs vertpos |

...................................

...................................

..................................

-

R B 3 BT s = TR

1 10 0?
TP vertr (cr%)

—=— DQM_TT _original_time2

Effici —e— DQM_TT_modified_time2
ICIeNd __,__ DQM_TT_modifiedINIT_time2

N 0.5:
L KRR St S S
n E : : : : :
> 0.4 B R i e
> E ! : : : :
2 E : : : : :
o e A A S
o F : : : :
£ 0.3 Aromerrdeeeees A o R
o E : : : : :
L R IR R e R[S
s .
P 2 S e

04|+ 4

0.0+l ;3{1-- Ean
S A 1 o LS
5 wob AL ELLH | f

1 :

-30 -20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.1 : " T T T
> E E E E E
0-0.09F - preyees priyeees AR
€ : : : :
R R S H il S A S
L e S R
P : : : :
£0.06fF------ 1 (R SRR R AR
R - - - -

o : : : : :
£0.05 Toovo i preeee
o : : :

0.04
0,08+ Fhoons iy
0.02 '
0.03

OIIII
1.4F

Ratio

1.2F

10 15 20
Sim. PV z (cm)

1]




	Contents
	Page 1


